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Introduction

This was the second paper for this unit and the first with a significant number of students
since the launch of the GCSE in 2009. The paper is untiered and in three sections.

As described in the specifications, and demonstrated in previous papers and sample
assessment materials, questions require a mixture of multiple-choice, short and extended
answers. Sections B and C are based on given scenarios.

Overall responses demonstrated there were some areas of the specification where

students demonstrated weak knowledge. This was based on terms clearly covered in the
specifications. In general a good attempt was made at answering the higher tier questions,
requiring extended writing. However poor technique was often displayed resulting in
students not being able to access the higher level marks. Centres must help students
prepare for such questions by developing their technique in structuring coherent arguments
that contain both analysis and evaluation.

One area that is still weak is the ability of students to use contexts effectively in their
answers. If a question has a particular context then the answer must also be given based
upon this context and refer to specific aspects of the context that are relevant to the
question. In summer 2010 examiner report advice was given that said if an answer could be
applied to any business then the context is not being used and candidates are not applying
their knowledge effectively to a given situation. Centres must be aware of this and help
students to apply their answers to a specific business rather than write general answers.
Specific examples are given later which help demonstrate this.

A number of candidates are still demonstrating poor technique when answering questions.
Some students are giving far too much information on shorter questions worth 2 or 3
marks, with answers that far exceed the space provided. In many cases these answers
achieved full marks but did not require the amount of detail. Far shorter answers that
simply gave the correct answer also scored full marks. In this situation valuable time is
being wasted which could put the student at a disadvantage later in the paper. It should
also be noted that students should be discouraged from using additional sheets to write
longer answers. The amount of space provided is designed to allow candidates to provide an
answer that can cover all assessment objectives and gain full marks. Examiners are looking
for quality not quantity.

Another example of poor technique is students always giving definitions of key terms

that appear in questions. This is not required unless the question specifically asks for a
definition. It often appears that candidates have been coached into starting answers with a
definition of the key term. This not only wastes valuable time and space, but does not gain
any additional marks.

Overall, however, responses by students were encouraging. Centres appear to be
implementing the new specifications well and it is hoped that lessons can be learned,
particularly related to technique and structuring answers, that can lead to further progress
in future examinations.
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Question 1 (b) (i)

This question is typical of what to expect at the start of a paper. It is a knowledge based
guestion which asks the students to identify. The aim is to settle the students and 'ease’
them into the question paper.

(3)

T ‘; o\ A 008 \;N\h ;owm’a\ -.\" }\u\\iﬁ\ﬂi,l(m‘?\u&\\'j

SN - m fm bl WM%

3 Amﬁ,} - W WW% & MU ;Mwﬂwpt

us

Examiner Comments

This example shows that it is important to read the question
carefully and link answers to knowlege developed by students.
The question clearly asks for 'written' communication methods
whilst the candidate has used 'email' as an answer. This is
clearly identified as an electronic form of communication in the
specifications. This, alongside 'fax' was a common mistake.

4
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Examiner Comments

his is a good example of what is required from
candidates to gain full marks in this type of question.
There is no need to give any explanation - simply identify
three methods. The candidate has done this successfully
without wasting time on redundant explanation thus
maximising the time available later in the paper for the
extended writing answers.
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Question 1 (b) (ii)

It is important to use both the command word and the mark scheme when answering
qguestions. This question uses 'identify' and is worth one mark. Therefore it is only required
to make one, short valid point in order to gain the mark. Many candidates 'panic', especially
with the earlier questions, and write far more than is needed.

(1)
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Examiner Comments

This is a good example of where a candidate gives more
information than is required. It is a good answer and is
awarded the mark but the candidate adds explanation when
it is not requested. Centres should help candidates with
their technique by coaching them on how best to respond to
questions with 'identify' as the command word.

ResultsP!
Examiner Tip

Do not waste time adding explanations to questions
that use 'identify' as the command word.

6
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method of communication.
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Examiner Comments

Here we see the same answer without the explanation. Both
answers get the allocated mark but this candidate shows an
understanding of the command word and answers with the
minimum of detail. This will help later in the paper when
time is required to answer the longer questions.

(1)
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Question 1 (b) (iii)

This type of question requires students to 'explain' their answer and are worth 3 marks.
Please note it also specifies that the student is only required to give one reason. A
significant number of students do not follow these instructions and include more than one
reason in their answer. In these situations only one reason will be awarded marks.

In order to gain full marks candidates are required to give a valid reason and then two
further development points linked to this reason. Poor technique is shown when a candidate
includes three unrelated points or reasons in their answer.

This is a good example of where a candidate focuses on two seperate reasons.

P
(iii) Explain one reason why an appropriate layout is important when using
written forms of communication.
(3)
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Examiner Comments

In this answer two reasons are given - 'helps the
communication look correct' and 'business creates
a proper image'. Only two marks have been
awarded as there is only one development point -
'allows the receiver to understand'. Even though
the second reason is valid it cannot be awarded
any marks as only one reason is asked for.

In questions with explain as the command word give ONE reason
with two development points. Do not give two or more reasons.
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(iii) Explain one reason why an appropriate layout is important when using
written forms of communication,

(3)
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Examiner Comments

This is a well structured answer. Only one reason is
included - 'look more professional', but the student then
explains this with two linked developments - 'will think the
business is successful' and 'lead to using the business'.
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Question 2 (a) (ii)

The command word in this question is 'state’ and should be approached in the same way as
explained earlier with ‘identify’ questions.

Pr:,;"-u{.t

(i) State one possible effect of poor communication on a business,

(1
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Examiner Comments

This candidate has included too much detail and has started to
explain their answer. The mark was awarded for 'de-motivated staff".
There was no need to explain this with the second sentence.

us

Reviewing past papers and mark schemes can
help candidates avoid this extra work.

10
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(i) State one possible effect of poor communication on a business.

)]

g\ﬂ ResultsPlus

Examiner Comments

This example shows the same answer, also awarded the mark, but
without the explanation. This may sound trivial but if a candidate
repeated the technique of adding explanation to every 'identify' or 'state'
question on the paper then they would wasting a lot of valuable time.

GCSE Business Studies 5BS04 01
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Question 2 (b) (ii)

This was generally a well answered question with a lot of candidates scoring 3 marks.
Better technique was also shown as most students listed down three advantages, without
explanations, as requested. However it must be noted that general answers like 'quicker’
and 'easier' will not be accepted unless they are qualified with a reason.

The question asks for advantages of word processing software. Simply saying 'quicker’
or 'easier' depends on the user and is therefore too vague. If this was qualified by saying
'quicker because you can edit mistakes' or 'easier because you can spell-check' then the
advantage is far clearer.

Letters can be produced usfng word proceéssing sbftware,

(ii) State three advantages of using word processing software to produce a letter.
(3)
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ResultsPlus
Examiner Comments

In this example there is no reason given why word
processing is quicker so only two marks awarded.

Resultst

Examiner Tip
Be specific in answers - avoid general statements like
'quicker' and 'easier' if they depend on other things.

12
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Letters can be produced using word processing software,

(i) State three advantages of using word processing software to produce a letter.
(3)
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ResultsPlus

Examiner Comments
A good example of where a reason is given for
word processing being quicker - 'templates to use'.
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Question 2 (c) (ii)

This question again asks students for an explanation. In this case one reason why a CV will
help a business in its selection procedure. The same principle occurs in that only one way is
expected to be given, which would achieve one mark. The other two marks are awarded for
a development of this, both of which must be directly linked to the original benefit.

This first example shows poor technique in that three ways are given by the student but
none are actually developed in order to give an explanation.

5 -

(i) Explain one way a CV will assist a business in selecting potential applicants
for interview.
(3)
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Examiner Comments

The candidate shows good knowledge but fails to explain their
answer. Instead they give three different ways the CV can be
used. The word 'also’ often indicates that a candidate is doing
this and could be used by centres to help students identify they
are giving different reasons rather than giving an explanation.

Results¥

Examiner Tip
If using the word 'also' in the answer double check that
it is not being used to give different methods.

14
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Question 3 (a) (ii)

This was a well answered question and showed that there are often different ways to
approach questions. In this case many students gave general answers such as 'meetings’
or 'appraisals', which was fine and achieved the mark. Others described specific situations
where face-to-face communications would take place. This was also acceptable and helped
to show good knowledge and understanding.

(i) Give one example of a situation in which face-to-face communication might
be used when communicating with employees.
(1)

nvlee ¢ c./}aﬁ

ResultsPlus
Examiner Comments

his is an example of a general, one word, answer
which is perfectly acceptable in this type of question.

(i) Give one example of a situation in which face-to-face communication might
be used when communicating with employees,

(1)
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g\ﬂ ResultsPlus

Examiner Comments

In this example the student has been more specific and
described the specific reason for the meeting. Again this
allows the knowledge of the student to be demonstrated
and is awarded a mark.

GCSE Business Studies 5BS04 01
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Question 3 (b)

As explained in the introduction of this report one of the biggest issues noted in this exam
series is the inability of many students to give answers in context. This therefore prevents
many students from applying their knowledge.

If a question refers to a specific business then the answer must also be given in this
context. If it is not it cannot be awarded full marks. This question refers to Isla's jewellery
business and gives specific details about the business that are relevant to the questions.
Students must be aware of this and select relevant information to refer to when giving their
answers.

Although this question is only worth two marks it does require the students to apply some
relevant context in order to get both marks.

(b) Outline one reason why strong relationships with her suppliers are important to
the success of Isla’s business,
(2)
Because Li.sne doesnt . nave. .o Go0a. RLOELON AP
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Examiner Comments

This answer shows good knowledge but could
have been written about any business. There is
nothing specific that relates it to Isla's business.
It therefore only achieves one mark.
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(b) Outline one reason why strong relationships with her suppliers are important to
the success of Isla’s business.

(2)

'%?iwdz& Hot rorcked in whac s LA Sd/{«% R

(N WN\AM S oves bac Cival in ecdus to kuu,p

cwnvingd g e $wdbﬂj ING \Tﬁmu won '

<J\ﬂ ResultsPlus

Examiner Comments
In this example we can see clear context linked
to Isla's business. The candidate has seen from
the information given that Isla operates in a 'very
competitive' market. The answer is therefore specific
to Isla's business and awarded two marks.

OO ResultsPlus

Examiner Tip

Always select and use relevant information provided in the
passage when giving answers about specific businesses.

GCSE Business Studies 5BS04 01
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Question 3 (c)

Very few candidates managed to achieve full marks in this question despite understanding
and explaining the benefits of fax and telephone when communicating. The reason of this
was that they did not relate their answers as to why it would be a benefit to a business such
as Isla's. This is something that is very easy to include but students are not being prepared
by centres for this assessment objective and losing marks as a result.

There are six marks available in this question but full marks can only be awarded if the
answer is in context.

-

Isla regularly communicates with her suppliers by facsimile (fax) and telephone.

(c) Explain one benefit to Isla of using each of these methods.
(3)
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g\ﬂ ResultsPlus

Examiner Comments
his is a very good answer with clear benefits given for
both fax and telephone. The student has also developed
their answer to explain the benefit further. However at
no point in the answer is the benefit linked to anything
specific about Isla's jewellery business. This prevents full
marks and restricts a good answer to 4 out of a possible 6.

18
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Question 4 (c)

In Section A there are a humber of questions asking students to 'explain'. Issues concerning
this type of question have been covered earlier in the report but can be emphasised

using this question. This question was well answered with candidates clearly showing an
understanding of how flat organisational structures can help a business. However in an
attempt to add detail to their answers some students would move onto other benefits.

This often prevented them scoring full marks but scoring two 'sets' of two marks. In these
situations only two marks can be awarded.

Martin has decided to use a flat organisational structure.

(c) Explain one benefit to Martin’s business of a flat organisational structure.
(3)
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ResultsPlus

Examiner Comments
his example shows a well-structured answer which gives a
clear benefit with two linked development points.

GCSE Business Studies 5BS04 01
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Martin has decided to use a flat organisational structure.

(c) Explain one benefit to Martin's business of a flat organisational structure.
(3)
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Examiner Comments

In this example the candidate clearly has good knowledge
but 'jumps' to another benefit - 'reputation of the business’,
before they fully explain the first. Only two marks can be
awarded even though four valid points are made. The first
two points are not linked to the second two.

Examiner Tip

Quality is better than quantity. In trying to add more
detail candidates can often lose marks because they
lose focus on the question.

20
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Question 5

This was a question based on the benefits and disadvantages of using email to
communicate. It was very well answered with students showing good knowledge and
understanding. Most scored full marks in 5(a)(i) and 5(b). However there was an issue
in the explanation part of 5(a)(ii). The reasons for this was the lack of development of
the original point as explained earlier in the report. The below example shows a typical
answer for 5(a)(ii).

If centres do not prepare students on how to respond to 'explain' questions then they
will repeat the same mistakes on each question, which can cost them a number of marks
throughout the paper.

Question 5 (a) (ii)

~ (i) Explain how Alex and Tom will be able to judge if the email communication

has been successful.
(3)
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Examiner Comments
his example shows three different ways being identified without
any being explained or developed. The candidate may think he/
she has made three valid points for three marks but only one
mark can be awarded as no explanation has been included.
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Question 6 (a)

Question 6 is the first of two questions in Section B. A passage of information is provided at
the start of section. In this case it is about a gaming store manager using a website as part
of the business. It is vitally important that students spend some time reading this passage
and drawing out the important points. This will help them a great deal when answering the
questions as it gives them a focus for the context in their answers. It was clear that many
students only skim through the information, or do not read it at all, and put themselves at a
disadvantage when answering the questions.

Although eight marks are available for question 6(a) it is essentially the same structure

as the explanation questions in Section A and students should be prepared to structure
their answers in the same way. The obvious difference is that the question is split into two
distinct parts but if students replicate the technique with two different methods they should
be capable of scoring well on this type of question.

As expalined earlier the main points to consider, once the method has been

identified, are identifying one benefit and then explain this with two develoment points. The
other point to emphasise is that the question is specific to Ryan presenting information on
the sales of games. Therefore answers are expected to have some relevant context in order
to achieve full marks.

The choice of methods was also important in this question. Many candidates focused on
communication methods such as email and letters. This was acceptable but did not give
them much opportunity to expalin how this helped in the communication and presentation
of the information. Better answers were seen when candidates gave methods linked to the
presentation of the data such as graphs and tables.

22
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Question 6 (b)

This question clearly demonstrated a lack of knowledge in many candidates. In this instance
the question is worth 4 marks and although 3 of those marks are for the explanation aspect
of the question, it is very difficult to score any marks if the candidate lacks the knowledge to
understand the key term in the question.

In this instance students were expected to understand the function of a website host. It
was clear that many students did not understand what a host provided and had been poorly
prepared by centres.

Ryan spent some time researching different hosts for the website.
(b) Identify one factor Ryan would have had to consider in choosing a website host.
Explain why Ryan has to take this factor into consideration.

Factor
(1)

B T [ STU IR I M S V10| a N SUs 2L A

Explanation
(3)
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Examiner Comments

In this example the student believes it is the website host's
responsibility to manage the content of the website. This is
a clear misunderstanding of the services hosts provide.

GCSE Business Studies 5BS04 01
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Ryan spent some time researching different hosts for the website.
(b) Identify one factor Ryan would have had to consider in choosing a website host.

Explain why Ryan has to take this factor into consideration.

Factor
(1)

Explanation
(3)

Ol ke does ok base oll He feabues Lo wents, Mo wedile

will nok te ol lo pdly commuate \yfonationy, @ Thiss could
v Coslomeds ore Tess (lely fouse do sibke  sowdl
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Examiner Comments

In comparison this candidate shows good knowledge of
website hosting. This knowledge allows the student to
explain in a clear, well-structured, way how this will help
the business, therefore scoring full marks.

24
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Question 6 (c)

Question 6¢ was the first of the extended writing questions on the paper. This style of
question is used to assess a student's analysis and evaluation skills and is assessed by
judging what level a candidate achieves - either level 1, 2 or 3. Centres are encouraged to
have a clear understanding of the levelling statements by using mark schemes from past
papers. This will help in preparing students for answering this style of question and avoid
making the mistakes commonly seen in such questions. It was clear that some centres had
done this and students scored high marks as a result.

In general these questions were attempted very well and students put a lot of effort into
their answers. There was good evidence of analysis in many answers with students making
judgements and offering support for this judgement, but problems with technique and
structuring of answers were evident. With this in mind it is worth noting the following:

There is no need to give definitions of key terms included. A significant number of students
wasted half their answer defining 'sales' and 'brand awareness'. This was not required in the
answer. It also appeared that some centres had 'coached' candidates into doing this which
was poor advice.

In order to reach level 3 it is necessary for students to write their answer in context. In
this question the context is Ryan's website and answers should have been linked to this.
The passage at the start of Section B should be used in selecting information that can be
referred to in adding relevant context to answers.

It is also expected that candidates give some balance to their answers. If they make a
judgement, and then support that judgement, it is expected they also discuss a possible
disadvantages of this approach. This demonstrates that they are evaluating a decision in
order to decide what is the best course of action for a business.

This answer is well structured with a judgement being clearly made and then reasons being
given for that judgement. Please note that some candidates often make the judgement at
the start of the answer, whilst others analyse both methods before making a judgement at
the end. Both methods are perfectly acceptable.

GCSE Business Studies 5BS04 01
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Two ways in which Ryan could measure the success of his website are:

« anincrease in sales
« anincrease in brand awareness of the business.

*(c) In your opinion, which of these two measures would be the most valuable in
judging the success of the website?

Justify your answer.
(8)
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Examiner Comments
he problem in this response is that the candidate does
not offer a balance to their suggested method. They do
give a disadvantage of the other method but in order to
achieve level 3 they must demonstrate they understand
the drawbacks of their chosen measure.
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« anincrease in sales

judging the success of the website?

Justify your answer.

WCIEE. .
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% Examiner Comments
his candidate moves into level 3 because they

mention a drawback of using an increase in
sales - 'could be due to anything, not even the
website'. Although brief this is enough to show
they have thought of both advantages and
disadvantages in making their judgement and
moves from level 2 into level 3.

Two ways in which Ryan could measure the success of his website are:

« an increase in brand awareness of the business.

*(c) In your opinion, which of these two measures would be the most valuable in

(8)

omft CEHAE \Nesy, noLst\Er \L Aossnt
fealy Ltk Rucin see the _m_cuzza_.c;e.m.

e INCTEASE I SOLesS LaaL \ot: Quete
Cnythmanot. aven e LetpSike. 3ok o
Nk bas wotne best Lwow Ruen
CON.MEQLE HNE SocC eSS OE Nid Wtodte.
O AMPressed sy & then theaw
O OO0 X SNGE Nere. TTs. MNeand
Hece Wwitl oe N \WWCease of sales.

Tere Core L bnnk Bne wnwetise of

e s 1S e R ker Lol m@qmqw
aoccess CC e webosite a> v ws oan
ensoey. YoaamMent QNCL s (YOGe. Q€T

us

O

<7? ResultsF
Examiner Tip

Avoid writing definitions of key terms.

Write answers in context.
Add balance to judgements made.
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Question 7 (a)

This was very similar to 6(b) in that it demonstrated a clear gap in many candidates’
knowledge. Many did not understand the term 'accessibility' and those that did often only
gave a partial definition.

pr—

7 Ryan had to ensure that his website met legal requirements. One thing Ryan felt was
very important was accessibility.

(a) What is meant by the term accessibility?
(2)

ho v bed C an Gel nle ov ook fe

Plus

Examiner Comments

Here the candidate shows they do not understand the
term in this context. They try to apply some common
sense - 'get into stores' - but in this instance the term
is applied in a specific way.
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7

7 Ryan had to ensure that his website met legal requirements. One thing Ryan felt was

very important was accessibility.

(a) What is meant by the term accessibility?
(2)

L QURISWLINEY, IS QWU \eay DOOY.
U tne wweiSite, por (9 peapic W m\

oo (fley must be gble o use o

Plus

Examiner Comments

This example shows a full definition by referring
to both 'use the website' and 'people with
disabilities'. Some candidates only gave a
partial definition by referring to only one of
these, therefore achieving only 1 mark.
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Question 7 (b)

This was another question assessed using levels as descibed in 6(c) with the same issues
being noted.

However there was a further problem with student knowledge which led to this being
answered very poorly. In particular most students were not aware of what the specific

legal obligations were in creating and maintaining a website. In such cases marks were still
awarded if students discussed the consequences of not following legal obligations in general,
but these were often confined to the lower part of level 2.

*(b) Evaluate the importance to a business like Ryan’s of its website meeting legal
obligations.
(8)

Nopes  weksire hos ko meer leaoll ckligehe

e Shewinny . Pae  dhon PRS0y ShgE L0
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eoliepiens oo Yiendo e s As el
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e He T AT oA P SN 2 Y e s, '5\<— Lo
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ResultsPlus

Examiner Comments

In this example the candidate only explains the
consequences of not meeting legal obligations.
There is no reference to any specific obligations.
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*(b) Evaluate the importance to a business like Ryan's of its website meeting legal
obligations.

La AA'DMWM%‘('Q_’) ’Mjwhz‘f poopl
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(Total for Question 7 = 10 marks)

{/ﬁ ResultsPlus

Examiner Comments

This candidate not only includes reference to a
specific obligation - accessibility, but also gives
some balance to their answer. They describe the
potential benefit of meeting the obligations as
well as the negative implications.
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Question 8 (a)

Again, it must be emaphasised that many students are not being prepared well enough in
terms of their knowledge. This question required a basic defintion of a term that is clearly
listed in the specifications. The majority could not do this. Common mistakes included
getting OHT's mixed up with OHP's and other candidates only giving a partial definition.
Many missed the question out completely.

SECTION C
Answer ALL the questions, You should spend 25 minutes on this section.

Read the following passage carefully and then answer question 8.

s \
Colin Takenti has applied for the position of sales representative at a travel agent

specialising in unusual and exotic holidays. The business prides itself in offering a
professional service to its customers and expects the highest standards from its sales
staff,

As part of the interview for the post, Colin has been asked to give a presentation to

the interview panel. The information Colin received stated that he could choose any
presentation method including a flip chart, slide show or overhead transparency
(OHT). After some consideration, Colin decided to use a slide show.

A vy

8 (a) What is an overhead transparency (OHT)?
(2)

have.  See-Tthiough. . SNERIS. . Wt LAras. on..ond......... |
LR0ybOdy. . Con g8 LL.

ResultsPlus

Examiner Comments

his candidate demonstrates some knowledge
but gets mixed up with an OHP.

32

GCSE Business Studies 5BS04 01




SECTIONC
Answer ALL the questions. You should spend 25 minutes on this section.

Read the following passage carefully and then answer question 8.

Colin Takenti has applied for the position of sales representative at a travel agent
specialising in unusual and exotic holidays. The business prides itself in offering a
professional service to its customers and expects the highest standards from its sales
staff.

As part of the interview for the post, Colin has been asked to give a presentation to
the interview panel, The information Colin received stated that he could choose any
presentation method including a flip chart, slide show or overhead transparency
(OHT). After some consideration, Colin decided to use a slide show.

8 (a) What is an overhead transparency (OHT)?
(2)

AN Gueiiued. kranipor®ncy. (onifks. Op Q. than. bansparant.. Sheet, ...
Ea AL Wit n. On . andh . Yean P\oce d on Q. prodeCor Gnd

e d. onyo. G dCieen:

<J\ﬂ ResultsPlus

Examiner Comments

This answer shows clear understanding of the
term and a clear, succint definition containing
two clear points - 'thin transparent sheet' and
'projected onto a screen'.
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Question 8 (b)

This question is another example of a question worth 8 marks but should be treated
by candidates as two 4 mark questions. The techniques explained earlier in the report
regarding 'explain' questions need to be applied in these situations.

This was generally well answered but two common problems were often seen and should
be noted by centres. Firstly, candidates must read through their answers to make sure they
have not repeated themselves in both sections. Marks cannot be duplicated for repetition.
Answers such as 'easier to understand' and 'audience will not get bored' were often written
in both sections but could only be rewarded once. Secondly, there must be a context in
answers. The question clearly states that Colin is giving the presentation to an interview
panel and this should be referred to in answering the question.

(b) Identify two principles Colin needs to consider in using a slide show to give a
successful presentation.

For each principle, explain how it makes the slide show successful.

Principle
(1)

O pot Dk too it infderachon.on. on...

_______ 4 VL

Explanation
(3)

____Qu’ﬂ ________________ \m O Anpriohon . on. Oae. Sude . nakes
Rﬂ o ne w\mwm oL VU,

__ %@L\mi FOSING,. e Ondhen(4y...ConCGahoon
_r-wff\ﬁv\_ﬁ_ \w WO &L\f_wr\o% m COmmvraCotah,
: e Gadoenl.

_____ _nsanshied,
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Principle
(1)
presunt el nfecnabon. . vEg,. et
Explanation
(3)
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Examiner Comments

This answer clearly demonstrates the importance of context.
Both parts of the question are answered very well however
the second part refers to the interview process whereas the
first does not. We can therefore see a clear reason to award
the second part full marks but the first part only 3 marks.
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Question 9

The final question on the paper always involves extended writing and is worth 10 marks. It
is assessed using levels as described earlier but also allows students to go into a little more
detail in their answers. However the same principles must be used in answering this longer
question. A judgement must be made and reasons must be given for this judgement. The
answer must be in context to the business used in the question and balance must be given
to judgements by also looking at the negative aspects of the choice made.

Students tackled this question in two distinct ways - both of which were fine. Some students
made a judgement at the start and then went on only to focus on this method, not referring
at all to the method listed. Others compared the two methods, looking at good and bad
points of both, before making a supported judgement in the conclusion. As stated both are
fine but those students who used the second approach often scored better as it made it
easier to offer some balance to their answer.

Remember we are looking for a judgement, reasons for this judgement, context and
balance.
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Read the following passage carefully and then answer question 9.

lona Wiley runs a small business making hand-made chocolates. Her passion for
making chocolates started as a hobby and soon progressed to friends and family
placing orders for birthday or Christmas presents. lona approached a small
family-run chain of stores in the local area asking if they would sell her chocolates.
They agreed and the chocolates were popular with their customers.

The increased demand for the chocolates led lona to take the decision to broaden
her market, lona would like to sell her chocolates in a range of different shops within
the area and provide specially designed (bespoke) chocolates for special events such
as weddings, anniversaries and birthdays.

To make customers aware that the chocolates will be available in different shops,
lona will need to advertise and promote her products.
. S

*9 lona has selected two possible methods of promoting her business:

« aseries of colourful adverts in the local paper
« aslogan which will appear on all her leaflets

Using the information from the box above and your knowledge of business
communications, recommend which method you would advise lona to choose. Justify

your answer.
he  (nccensed. demand. for. the. (hacolotes states that

people. e Hnding. cut. Qbout he. buswness by, thesues,
so._lrecommend  She Crantes oS@gon. whith Wl appeos

LOnau o teaplets, 0s thiS way at hes customers wul
e ane to reeqgnize he eases because they have.
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Lthok  the buStness s Organrsed. MRCeESUL and

qepetikve  whilh s o good thag, because ot .
Mmeans.. Aol Customesrs. Con Creatl  on. gpwnion. cf.

ke ean thab Ul SECk aS. 2@y one. gets. teated. .
the. Serwiees. ond Al the detaS (s 600d Fer gne persc,

........ they. WM 0085 00 Lthe mess@ge. W ilh WIULe | o ten

(;/;;OOd P(VJ vea k lon . (Total for Question 9 = 10 marks)

H\EZ ResultsPlus

Examiner Comments

This is a very good answer in as far as a judgement has been
made and the student gives relevant reasons for selecting this
method. However the student misses out on further marks
because the answer is not in context to Iona's chocolate
business. The passage gives a large amount of detail about the
business but none of it is referred to in the answer.

There is also no balance to the answer. Only positive reasons
are given. To fully evaluate a decision a student must

also demonstrate that they have considered the negative
implications of their chosen method.
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Read the following passage carefully and then answer question 9.

P
lona Wiley runs a small business making hand-made chocolates. Her passion for )
making chocolates started as a hobby and soon progressed to friends and family
placing orders for birthday or Christmas presents. lona approached a small
family-run chain of stores in the local area asking if they would sell her chocolates,
They agreed and the chocolates were popular with their customers.

The increased demand for the chocolates led lona to take the decision to broaden
her market. lona would like to sell her chocolates in a range of different shops within
the area and provide specially designed (bespoke) chocolates for special events such
as weddings, anniversaries and birthdays.

To make customers aware that the chocolates will be available in different shops,
lona will need to advertise and promote her products.
\. S

*9 lona has selected two possible methods of promoting her business:

« aseries of colourful adverts in the local paper
« aslogan which will appear on all her leaflets

Using the information from the box above and your knowledge of business
communications, recommend which method you would advise lona to choose. Justify
your answer.
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Examiner Comments
is is another very good answer but it achieves higher marks because it is
written in context by referring to the target market in the 'local area'. It also
gives some balance to the chosen method of advertising in the local paper as
the student notes that this is expensive and depends on the budget available.

griz ResultsPlus

40

GCSE Business Studies 5BS04 01




Paper Summary

In order to improve their performance candidates should:

- not include explanations in questions only requiring only 'state' or 'identify'.
- use context in answers wherever possible.

- not give definitions of key terms in questions where they are not needed.

- develop knowledge of key terms from the specification

- only give one reason or method in explanation questions. Develop this with two linked
points rather than give other reasons/methods.

- always give balance to judgements in evaluation or justify questions. This involves

including disadvantages of the method chosen as well as reasons to support the judgement.
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Grade Boundaries

Grade boundaries for this, and all other papers, can be found on the website on this
link:

http://www.edexcel.com/iwantto/Pages/grade-boundaries.aspx

42

GCSE Business Studies 5BS04 01




GCSE Business Studies 5BS04 01 43



Further copies of this publication are available from OfQUOI

Edexcel Publications, Adamsway, Mansfield, Notts, NG18 4FN EEEEEEEEEE

Telephone 01623 467467

Fax 01623 450481 Pt
Email publication.orders@edexcel.com \/(ﬁ
Order Code UG027511 June 2011 ,/ *_’A

Llywodraeth Cynulliad Cymru
Welsh Assembly Government

For more information on Edexcel qualifications, please visit
www.edexcel.com/quals

/ - - /
Pearson Education Limited. Registered company number 872828 \ —
with its registered office at Edinburgh Gate, Harlow, Essex CM20 2J]E

Rewarding Learning





